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(Final answers should have accuracy to 2 decimal places.)

Spring '07/MAT 117 /Worksheet 7 Name: Show all your work.

1. (8pts) On his drive to work. Richard passes 10 stoplights. The table below shows the
number of times Richard has come to a red stoplight during a drive to work (data over 55
days). c oo n 1

a) What is the mode of the data? a) J I§ The ke
b) What is the median of the data?
¢) What is the mean of the data?
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d) Find the relative frequencies. T T SR S Tt i e
e) Draw a pie chart representing the data. Sia, :_’ﬁ;_ el e B Jr
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2. (10pts) On exam 2, this 117 class achieved scores summarized in the table below. Do
the following.

a) Draw a bar graph for the data.

b) Enter a representative value for each interval.

¢) Estimate the mean of data. State the actual mean, fmmd on the course webpage and
compare it with vour number.

d) Estimate the standard deviation of data.
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3. (6pts) Compute the following probabilities for a standard normal distribution. Draw a
picture showing which area you are computing.

a) POs<z<0ms) = A~A =0.2024-0.191S

o 05078

b) P(Z<—025) =~ (LS-A~ 0.5-0.098)
= (A0S
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4. (6pts) Suppose that exam scores in a math class are graded “on a curve”. where it
iz decided ahead of time that a certain percentage of the class will earn A’s, B's, and so
on. Assume that the top 10% of the class is given an A. If the exam scores are normally
distributed with a mean of 68 and a standard deviation of 14, what is the minimum score
required to get an A?
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